
A1

The sun _____ (shine) brightly in the sky.

Answer: ___________________

It _____ (rain) heavily outside.

Answer: ___________________

I can't go out because it ____ (snow).

Answer: ___________________

The wind _____ (blow) gently through the trees.

Answer: ___________________

The temperature _____ (drop) significantly in the evening.

Answer: ___________________

The clouds _____ (gather) overhead.

Answer: ___________________

The weather _____ (change) unexpectedly.

Answer: ___________________

The thunder _____ (rumble) in the distance.

Answer: ___________________

The fog _____ (cover) everything in sight.

Answer: ___________________

The rain _____ (stop) suddenly.

Answer: ___________________



Answers

The sun _____ (shine) brightly in the sky.

Answer: is shining

It _____ (rain) heavily outside.

Answer: is raining

I can't go out because it ____ (snow).

Answer: is snowing

The wind _____ (blow) gently through the trees.

Answer: is blowing

The temperature _____ (drop) significantly in the evening.

Answer: is dropping

The clouds _____ (gather) overhead.

Answer: are gathering

The weather _____ (change) unexpectedly.

Answer: is changing

The thunder _____ (rumble) in the distance.

Answer: is rumbling

The fog _____ (cover) everything in sight.

Answer: is covering

The rain _____ (stop) suddenly.

Answer: is stopping


